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c. Y

It has been a month since my family moved

CHAPTER 1 to Chicago.

» It has been + ARt + since : ~§HX| - ZQICt
2-32 I have just started school here.

no
o2

: » have just p.p. @ 9 ~3iCt
Readin g 0 1 33 School life is very different from what | had
: back in Korea.

» be different from : ~2} Ct2Ct

» what + S+ V : ~7t -5t A (MYAE et

®ocabulary Build-up chesa)

[ZE] 1.0 2.0

=l

Al

. _ 634 There are a lot of after-school activities to
greeting n. QIAt move V. 0|AGICtH
different from ~oj = gym n. H22 choose from.
in addition 7|t} activity . 2= » HAL+ to @ + HRIAF © choose from activities
keep in touch 72 oizisif x|Lict o — activities to choose from (toS2-ALS] SEAL

' = )

(CEEE) N The one thing I still want is my best friend
olHUZ HEkskT X|LH7| » —thing (that) S + V : 252 AACHHAL that A4=f

2410 fei2000@gmail.com
M= AZII2REQ] o8
ehg Jinl

22| 71E0| AIZIIZ O|AR2 X| & Z0[ HRU0. Lz 01714

ol

IS OfF| B AREID. O BIR0IM S St MBIl Reading 02

02 2y, PRECE sty U2 A, 529 st

shol| 71==50] Hot, Ms, 5%, 238E A0, U= = [H21 1.0 2.6

2Iglo] of7| st MES ZolE Hof, i, MetEg Qe

= 2E0] ot 7| ME 2= 7| Z0F 20l=dl, of 7IX| of roabulary Build-up

15| Otrf2 A2 Lol 7t FRIel Lo, YR B 4lct, 7l hate v. 4l0{sict useless a. 22 9=

2 25X} enemy . & courageous a. 82t

N retreat v. &sict cave . s=

Hana spider web 7o|= entrance 1. 97

(2xf5H41] N 1)

1 st Zisis0) Belk= O LS| gt ol ga ol

2 OlI2OIM Hanals 3= AZFICl 5t Ayzio| e iz | IOl O[ARIO| CHS S 70| Aofai=n, 1= o7t
CHo &ich, @ 4ot Y| 718 25 o & X712 bt © G SICtn MZISh| WhZ0|UCH ol 2 10| HFS0] MS01Rt
Ul A Bros TAkS| B2 74 20F OiFTE 2T A O C. 22 SUIX[Rt Mol 42 Z3Ct Y2 SEHoIH et &
Sl AE0| 047 |9} 7o) ZHCH | WA= Chato|7ict. @ W7t L2 oMLK F0] HlofRls S2S Y 1t S2 402 ¥
Ol BinlS =2 MENSIX| 226). ) K13 HX| MACtD 0 SO{7IADIAT AOIS0| 5= &0l ADIEE Rt &= FiX
Okasaf L CHAISC S22 3000 HOIES 2| SIQI0t BAIS2 0] A

D130 Q= 21 20| B2 0lo] 012 GIS et Azl
CE) S HUZH O 22 222 TE 4 90t
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c. Y

[F25H4] Ol oflAmaA HAIR *ISSpresso’2t E2l=d|, =4 5
18 Check the personality factors below and see A0 R=HIHAIS0| 252 ME0IA SIM2te TIMF ol A
which job would fit you well. . A= EE 4 UAES 6liE Aot
> OlZAbwhich + (BA + § + V : Ziio|Re ‘
43 You like to plan out the big picture. [Ex514]
» like to @ 1 ~o7|E Z0fSICH (o R HALL] HAE & 1 o= %ow AHE 7tsSt Z|Z=9| Al oidlol| 2ot LhE
- 2HH2 MQ) olct @ 2F =9 Hul HAl @ 253 2F 70N A
102 You take action right away. 0|2 ShEs i @ FHIAL AOJ0IA 718 O17| QU=
» right away : ZA| o @ o|Zz|0tol S=H|HAl Ofsh PHE0{RI FAm| 2=
1520 You are neither a leader nor a follower. ©® SF0A Z=E2 HIIE O RFH|-HAL
» neither A nor B : A% B O 7 0] B0ME 2F0IM HHS TR P7L IICRY 2US F2

OlZ3ICha 7|&sta ot
3 "R2EE MEj(Q)'E LEE H3C=2 | zero gravity(b
), state of weightlessness(9%l), gravity—free(15
: et)7p MRACEH
Reading 04 : L ISSpressont H&S AS5101 252 Aol FHi2 of
: o 4 UES o] QT

o2

[ZFE] 1.® 2.® 3. zero gravity (53), state of 5 Ol 20M= HEReR 282 JH2l 70 SHS t
weightlessness (98l)), gravity—free (158) 4. (1), (2)

= 70| of2ig SZH|MAISO| T7¢ Hci= B FHIiS oA
5.0 ’ 7| of2i oL M2 YaiEl 70| oiAloz ofRl= JisaiEDt

= g ot rt,

r

@ ocabutary Build-up

astronaut n. 23 d|gliAt instant a. =9 : (+2at2]
option . A4ei() powder 1. 7j= -~ | Sofar,all the beverages flown to the space
package v. mafsict handle v. ct2ct have been dry powders packaged in foil*
liquid . ot gravity n. 52 pouches because handling liquid is not safe
invent v. 2ieisict machine n. 7|7 in zero gravity.
innovative a. s4Ixo! enable ~to @ ~7t ~apisict » Sofar, S + havelhas] p.p. | XIZIK| ~7} -3
f U (BRI AL R)

CESE)! b GAF+ TIHEANT) | £20] ol0[2 HAZ S| 24
SF0lMe| | 5t & ' > @—ing is : SHAF 0| 3218 T4 FS
0[=2/0} 23 HIZAIR! Luca Parmitano= "2%0 MEsHE @ 6 7% Itis now possible to have real coffee in the
S0P TelRE A & o7 MTHE # AL Bt ToIRA0IR " space.
et USIACH, X 13H SF 25 HIARS0] MElE 4 AU » 7101 It ~ to @ 1 ~3he 20| -5t
B %2 QIABIE 7% ZIOIYCH XIZ7IX| 5 ZZte2 Lt/ on  Lavazza has invented the first coffee
2 Us BE 25 XY 7 I—|01| e Hx 2LE0IU=H, machine that can be used in a state of

I= F54 ol ANE CiF= A0| QRGEK] 27| HhZ0] weightlessness.
Ch. 0|2 07| flshM 5= HIBAISE 7120l 22 &7IsH0 » the first + AL + that + V @ 2 ZCHAL
WILHE 0123104 ORAIZ SHCH, SIXI2E XIZ2 25 S0l 2t that (A0l M7t QL= B which Tl that At
7{L|S OfAl= 20| DFEIL K53l =IRACH OIE2(0te] 7] = 2)
A Lavazza= S0 gl= SEHOIM AIBE 4 U= 20| 7 9-15¢ This innovative capsule-based espresso
I/ 00712 YRGIUCT. 72 MoR a3 Msle, 0 271y machine, called the”ISSpresso”, will enable
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the astronauts to enjoy real espresso coffee at
any time in gravity-free space.
» enable Ato @ : AZ otE ~& 4= UA| 5ict

CHAPTER 2

Reading 01

[#E] 1.@ 2. people of all ages

Oocabulary Build-up

be crazy about ~of Zsict rough a. 74zl £8i5t

recycled a. xjz2sl fabric n. 2z ®

harm v. &2 7|x|ct environment 1. £

ecosystem 7. e compared to @ ~0f tlah

Ofl B2 AIZE0] ol ZHof = WY A= X Sich 1A o=
0

I% MI Of7of of =4

72 & Tl (a)E Ok 5HLE dXolke AYCE OIXE 2
EOf ‘people of all ages'et FAISH Q0|E 7HIXICtD &
it

3 E20Mz oD TISEMAU # OfLl2t AR HOME

2 e Fal ATt 2t

(Ca=:l=)
18 Many people these days seem to be in love
with eco bags.

» seemto @ @ Q1 24 2Tt

1-22t From fashion lovers to fashion terrorists,
people walk around the streets with an eco
bag on their shoulders.
» from Ato B : ARE] BIIX|
» with + BAF + ™XIAE 0 ~7}F Q1 &Y

8921 They are also very light to carry around,

compared to leather bags.
» FEA+to @ ~shjolf

g - FSA )

el

oS EAS FAE &

~1

v

compared to @ : ~0f d|sH

Reading 02

[HE1.@ 2.6  3.(1), (4)

roabulary Build-up
graphic novel ot5t AN
against prep. ~ofA| thatsiod
conquer v. ¥=5ict

world peace A7 Zst

alien n. 270!
virtual a. 71Ale|

defeat v. x54Ct appeal . 012

=He
T'_'

i)

ol

RYs 0tst AM (Avengers)E ot 217] Qe &

S CINEIES

Ol7|= sitt, Iz XI—?‘C’I HatE floll M= =0
kst olopr|oct, ARl E82Z&= Ironman, Captain

America, Thor, :LE'_lj_ Hu
S0 &M M2 OIE% A=

FO'OEH 02 B2 0101 A
=oleds AR A M
= A 27| Lo
7R, of

ES
HEAETIE 2

&9l SYI=S0| Z=let Mas HEA
Sk 2401 0 Hate| 7H o = 240(CH 0|4 35 At

Answer Key 5

P+ o+ +



(_Y—

OlollM A= B W 252 50| o8| oligell LV k=2t appear v. LiEtLic) overcome v. Z=5ic}
ot =8t Holg,

N )|
ELEE) X
1 &3l Avengers= SE9| #2 Bhat AdS HIE o2 BIS0 Ola7tES 05 AARE TGP Q6 AfEtAe Tgch, O
ok 29 Mz a8 Z2E 049 Ae HoEct, of7|ol=
2 Fofzl 230 ‘another point to focus on' OIRO, & 1 59| HaAME Zxo| Eai=o] Utk ARl 37} Frida
£ U89 HAHRIET} Ao ATHERICHE Hs & 4~ U Kahlo(1907-1954)= XIS ZHS et XEdERE RY
Cf, SlCt Kahloz 7t 1840IUS 1w BRISH A A0 4
3 st Avengerst DISIS Btz DIE REO|H, USSS | 25 HAS 9 o o| H|2XQI AfD 2 0I5t TE0| 19| At
Sott 88 AFUelt, 71 580| M2 20t Al =0 2 FS UL 2A0IM 3lSs6tk= A 717 S0 =
Act Zicholl =Xt Uo0F =, of 7|7t SOt a7t 7l n=nt 1
© S0] 0] AfekdS0l & B0 bk ald= a9 Jgof
Ca= =) | EXH SEBID KT 2T SXT L SIXIT R HIEIIS
pi! It is about super heroes who fight for world © 72} SAlof| 1o 2RASHHZ20| BE 1ES 0|A4U= 1
peace. | 4o 5i2 AREoR BEein QUCiT W),
b MBAL+ who + V¢ ARIS THABHS 52 BACHy
A who N GCICT)
4-520 They fight against aliens who try to conquer 1 KRR Edl stel MAMTH NS Folsttin MEHE o]
the earth or fight to stop robots with artificial olct.
intelligence from Killing humans. 7 e 32 77 =0t nEEo] JeHM L7iH 149 2|
» fight against : Héo'toii MC (— fight for) 222 XS0l AT, © EE @718 O XEE @ 2
» stop from @ : ~ kx| 251 afct 22 6352
6-9%  Watching how these virtual characters 3 WEADZ QlsH @ RICH MES sof FHXITH ER|ofol| ot
defeat powerful enemies using their equally Of MERHC= L2 oiZe|of QK| it
powerful but unique and different abilities is the L Frida Kahlo2| XIStM0IM 5 SX|c K= e 2ud
best appeal of the movie. o= XMIOHSX} TR ARV ol T2 0| AL 18
» QEA how + S + V @ ~7F O{EHA| - oF=X] = 356lde 149 elg EHEOT shAECH

[—TLToH“]
Frida Kahlo is well-known for her self-

w
|
~
o

& portraits where she expressed her
Readmg 03 : feelings.

» be well-known for : ~Z SHGICt

(2] 1.0 20 3.0 4() > HBA+ where + 8 4V LS SAols Bl
: At where

roabula ry Build-up 4-520 Kahlo was badly injured in a terrible bus

express v. mstsict appearance 1. 2%, 9/3 accident when she was eighteen.

identity 1. 7@ badly adv. 4], v » be p.p. @ ~ECH(SSE)

injure v. £42 lsict accident . Al 6-82  While recovering, she had to stay in bed

pain n. 15 tragedy 1. b2 alone for quite a long time.

influence v. %stS 7|x|ct recover v. s=sict » while + (S + besAl) + ©—ing : ~5l= St
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» quite + a + FSAL+ HA gE2 QUIE S0 @ JZol= 76t O HxrMe=
10-12% In her paintings, she appears alone and she 3 Me|H=EZ Qe EIHE SiTHH TEO| QIX|= o o 24|
neither smiles nor cries. Sict
» neither A nor B : A= BE OFd L ER0M= FEut ~Hs 2860 Al Y8 oy dEs
' 2 SIS AZFS XIS AESt=s 22U, @ =2
XXl Of2t 2ol X[Z{5HX] ofet, @ AlRte & X7 1=
S EZAAE 2Eolet. @ ORIYS XI717| flolf YEE 4~
T &altt, © TV AHOILE HFE AYS KL B
Reading 04 | 3x D
[ZE] 1.0 260 3.6 40 )
FOC That is because they are usually messy and
® ocabutary Build-u D disorganized.
make an excuse Z7= itk unprepared a. 4|7} 9t & > Thats because - A2 ~ob7| HHZ0ICH
messy a. x|xst, ol disorganized a. x7|={o[x| &5t (— That is why)
lower 2. o 4o successful 2. Azxol 63 Here are some tips for you to be more
throw away ~< 2|t extra a. Z7}o| - organized and successfull
in order At manage v. 2lstct » for + 282 + to © 1 toREHAIS] oJOjAte| 201
wisely adv. sigsp due date (utx| 52)) ozt 11-1220 Your pencil case goes in the very front.
' » At very : front Yol very7t 20 ‘M 9fojet=
(225) 0| HE2 U
43 = HEE?
W =A7E 71 ofeivtof AL, “Hol ME =11 FHoiR” 0l
HBS S0l=s eflSE = 4 o7t et=o] ot 252 d
0l SIS =10 2L+, 0|A2 01S0| XAMEst & F=otA| &
7| Wh20ICk, H=0| Elof UX| b2 SMER HM0| W1 st
MEIOM O AERAS W=t B H=0| HE SHE2 o
0| £1 st il AEZAS E Bh=Ct T2 40| O
2 HER J3H017| #I5H E 7HK| YS0lCt
1. 552 US0{2t, stuojM Hest A5 252 Adstet. 5
wahk= g OFF0] oft | e 2hofl 71EkS HAeH
2. Zacliet, 7ol = SERSH S0(2F M7= d2et &
olof St 2 MEH A2 M 202 B Mz Helsi] Zo
et ZE0| 7+ ol @7 Ect
3. GO ARES S| gtelotet, aTut S AREsH0] Al
& Yot of Y™s Mol Foiet,
[ExIsiA]
1 E20IM= =0] =] /U= Slse = HES S0lss

i O[Of7 [t HE QAT
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CHAPTER

Reading 01

[ZE] 1.0 2.@

roabulary Build-up

classic n. & introduce v. Ataict

choose(-chose-chosen) v. AMetisict

roof n. xj2 woods 1. & A2

trail n. @22 Atz imagine v. AAGICH

[2251A]

W2t o] oH

FHoh nH™ AN M7E M| M) JHLICHe] Prince Edward
Aol At Wzt 2|7 12tg 71El 8F 449 0jot7|ct, 0] 0[0f7|
= 1908401 Mg 470 U1 T 0|F2 ™ MAIS| =X=E2R

Ef A Hio} QUCh, 0] AM9] 27} Lucy Montgomery= 0|
OIECHR A8 J49l AM tfgo = MElsii=H| 1L £5t 0]

= ZA0)7| th20|ct, 0] AMO| WS THE2 Annel AUE
£ XIS9| te W=st| #l6t = YWEst=l, o] ZE2S0l
OlatH 0[0F7| £0f SHote &1t 2420| 50| oAt AR
Ch =M o oFSETta oftt
[ExIsi]

=244 0| & 7HtCke] Prince Edward Aof| 2

=
H
0
>
%
|_o
a oIv

2 AEoluiZo] & Eo| Lot 22f = U=KlE SHFE0] UK

Ca=:l=)

5-6%  The story was first introduced in 1908 and has
been loved by readers around the world ever
since.

» havelhas] been p.p. by 254 : SixiA= 5
El

/=102 Lovers of the novel visit the island to see the

house with the green roof (that/which) Anne

8 Catch the Reading 2
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lived in and visitors say the woods and trails in

the story are even more beautiful than they

imagined.

» SACHEAL (that/which) + S + V @ =X ZA|ch
AL M2 THs

even + Hug : EW0l2le o2 Hlug dx

v

Reading 02

[ZE] 1. 2.0

roabulary Build-up

connect v. ¢1zaict method n. gt

convenient a. He|st come up with ~2 mge|ct

bury v. 2ct set up n. Mxfsict

float v. =jct device 1. &x|

[22514]

E o=2NE

AHEE 272l SCY(LAN)O|LE 2fo|mo|, FAIXS ds 52
Soll & QIHSlo] G&etTt, SitiEtE EAS0M= 02i3t
WHS0| H[SHX[, OFF A= Si= HEioilM MSRH 0152
AX[Sl= Hloll= HiZat AlZHo] 2ol =0t Mol 7t 2 FE
7159] 2RI Google2 —12HM Mz2 Eals s == 0|

i
m\o
o
"
r
op =2
2
o
1o

£ Loon ZZMERtT H2Ct X[5Ho| A

=
MIS= thilol 0152 €717 3801 E*= XS Heltt.

ESES
Ol 71 YR RH tsE H=d|, 20120l 2 MUSE T
= Q7|70 2Tt 241 LM 0l A&ES0] 7172t 715 A

0= OlSotH DREL QUE{S ARZXIONA =F oA =iz AoITt,
L7170l ERYE LTHHO| AOIM Ahz TV IS Sgoil Fu

[
SAE flef 7171501l TS S5

[ExI514]

1 0] 22 QI 352 I8t 7IEn T2 Google?] Al&=0f
ol iR T, @ &80 SN2 =Y © Google
ZM AT ALZE @ QUEUIE HZok= M2 YUY @ 2
0| M2 Hules Z2NME @ QEUZE Haot= 71 i
= e
— Ot

+ +
+ o+
+ o+
+ +
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Ca=:l=) A=E & HOoEIOF STt HLAS] HARI0ME Aot S
122 These methods are convenient in modern 0|7t /& X2iE ojo|ATZIS gtolel a2|a oF=ol QUCtH
cities, but they cost a lot and take long to SHAI0| 2 QIS0| WEO|7F 7HA Q17| Q= 22| 2Alo|Ct,
build from scratch. 20l= HiE5tn 23sict. F2lRojAEE SUo| 22| AR
» cost + HIE + 1o @ 1 ~&k= dlol| -7t SCt Ol ZXHE 0 37 ANXPPHSO ULt IelE Sesti| =rH
» take + A2t +to @~z Hlof -7+ Ze|ct 2t BHSO0IX! F2|miE SHEt0F Bttt Fefm|of= HiLiLiL =2
342 So Google, one of the world’s biggest A= 552 O %2 X501 £ X==2 S0t
technology companies, came up with a new
idea . [=Hsh
» one of the Z4g + E4EAF: 7H& ~8t A4 & of 1 0l 22 Ml |E E72| 841 F 7IXIE AJietn ATk O
Lt ' He| 2219 KIEd @ MA fF 2742 8410 29 7

ro
0]

4-6% Instead of burying cables underground or ZIAIE @ St Z7e| 2410 AL B TA| & 22

GO N oo o2 N
1=
1o

setting up transmission towers, they want to : St
float balloons up in the air. 2 e 3ol Tet g = B =30l HEE A2 gk
» FEN + @-ing ~ or ©-ing : MEA Folle S Quct
AP EETE SO, HEAME MO0 & F #A2 5 3 ORI 2% Sall of chsol MiA 2171 Z2A2] SA9] oll7t
Ut Hell R A0E 02t As L 4 Ut
L =0l QIUIHEE A2 S40R LA HELE 0f0|A
38, wE23T0, SY2 F2RHAEE o2 E1 Tt
5 EZ0IM At 3| £02 S0t Mae M2 HEet
AE0|22  F|He= Yctehs A0t UR[GHK| d=Ct,
Reading 03 T GBI AN RS $B| HROIO|h @ AWdahA
DEOTICE, @ Yo ZSaict @ mk2le] A2l Al HofE
[22]1.@ 2.0 3.@ 4.(1)Gelato (2) Hotdogs O @ % M= ol 18 + UG © Bt St
(3) CUFI’yWUI’St 5.2 7_(|£ E_Eﬂﬂﬂ% EL|‘|O-|§ ¢ ‘2,![}
® ocabutary Build-up - sl
ready-to-eat ti= 2i2 4 9= cheap 2. Tzt 134 Street foods are ready-to-eat foods sold on
portable a. 7ixjn cid 4 9l= experience v. Z&fsic the streets.
local 2. 5ix[o] culture n. 23} » BAF+ IHEAL + FIXIAAE Ol ZARAE S8
rich-flavored =3t 0i2 L= spicy a. 12 Afol HekZ St XM 222 HAS 2X|
sweet a. 235t served with ~1t 87 xilZel= Al

filling n. x2= 2, (&

1z
10
i

28! They are cheaper than restaurant meals.

» Hlwg + than @ ~2CHE -8

=

[22514] 33 Street foods are quickly made, portable, and
Zzz| 24 tasty to eat.
42| SA2 oM HilEls S AlEE Zolth, 282 F& » B+ 1o © 1 ~al7[0l Bt (loREAR] BAK &

m w
Jn
i)
i
HH
In
ol
2
Rl
=]
=2

2
FIEOIN TOhECt Zofa] SAL A B - A4
[m}

=
20t Mdoltt. Eot A5

He BAE 25 FSOIX|IH S0 Ch 342 You can experience real local culture by
BN 22 4 AU SIRICH oS TP |l0E 2o S48 5 tasting strest food when you travel.
=22M 1 X|Ho] XIget 235 M 4= ULt K7] MIAQ) » by + @—ing : ~EICEM

17| 22| SAI0| B JHX| QUCt, F2 Al0] STt st | g It's both spicy and sweet,

Answer Key 9
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e S e e sl sl S S

» both Aand B : A2 B & Ct

(2] 1.6 2. ALSEAZY) BXISS 2ot 713 ok
o By 3.0

roabulary Build-up

full of ~oz 7= 7t challenge v. =#aict

refuse v. 7{=sict donate v. 7|=5ict

raise v. (=2) Zort awareness 1. Q14|

patient . 2ix} participant . 27

dump v. (Zoptiz|ct name v. x|=2sict

attention n. 2 =2

[2=2814]
Ofo|A H{Z! HEIX|

250|715 MU= S JeiEMR. F==I7PF oA =X
F C

ra

0

mjo
oh
2
°
Off

o
=
i}
40
=2
Bl
|0
o
k=l
]
T
iml
=
1°
ort
=
2
X
[l
ro

2= el A yLct

=) BAtof 2ol &2l 0152 fIg 718 27| floll AR
SUCH Al HOAte| Tt 7|2 S Bigis Rt ofL et 25
== 1= 242 FE0| XM= 0l THE 015017 of ZH|2lo)
CHol 27| IHMAUSLICH AS2 UM 25 of2lof
25 5= & == Gt MRS SROISHT. o[ A
UHQI2 AS2l 4t 2l AU FHRIASS Zetet o
Mol B2 0I=0] of Ao HofsiRaUCt. oelze HE
FYLUS0| 25 & =TS ol s =g 4 U=, K7(ol

30 Nl
o>
-
Il

k=2
= —
= Barack Obama 0|= iE&=

[ExiI5H4]

1 220z Xrlo| EXol Fofst T, FHOJ A AROIA =
2 MESI=H|, Lucas Gabriel2 XRAI9| S|
Hol ot=2ck, @ Jeft Cooper, & XISah
OFl @ 02 2o QL= oJHIE| E045H Zd0] LA
AgoloF, @ ot ARIES 2, LI siick= A
£ Qe ok, @ 112|1 ALS Eslof 503 7|18
{0F. ® OMX[&ez | Li= 0| ¥S0IE W Aok Xl

oo T
B 2oy
Ral
o
Q'D

uo rir
Ui

ot
\J

10 Catch the Reading 2

+ +

+ o+
+ o+
+ +
+ o+
+ o+
+ +
+ o+
+ o+

Tom GabrieloilZil &7 |7l0f. 42| 25 &2 &7,
= HHS Fok= ool Y=gkt

2 =20iM ofolA Bzl HRIX= ALS(EAZY) SXiE2 ¢
ol 782 2ou, IS0 2ot S eFlot| flol AR
AT Mt

3 ER0l= 2 7|FEFU2 AF 0] UX| i

G )

E Imagine a bucket full of ice.

» BAL + SEAR L TRIARE S 0|R0] AL T
£ 0|2 Il BAE =X| 4

Someone challenges you to pour it over your

head.

» challenge + Al +to @ : ~OlIA| 52t =X6t
Ct

Many participants not only chose to donate

but also dumped the icy water on themselves

to let others know about the campaign.

» not only A but also B : A% OtL|2t B=

> let + =50 + SARE @ ~7t -S| SICH (584

People shared the video clips or photos on the

Internet of having an ice bucket poured over

their head.

» have + =80 + p.p. © ~7t = SiCH (5FA)

CHAPTER

Reading 01

[ZE] 1.6 2.@

roabulary Build-up

major 1. &2 choice n. et

make a decision Zxsict passion n. 9%

enjoy v. =7|ct

be good at ~g =sic]

think of ~2 42i5ict G2e|ct professional 2. F2x0|




[E2514]
Z7 3t of) Readi
eading 02
CHBI0IAN HES 26 242 Dhlo] QMo Ll 2 e g
Z0] 748 ERst M Z9| siLict, X2 D Mefst Tos of
XI3 XIZRES Oloil Chef Mot 22 ARIGHE 20| L, 2 (881 1.injury 2@ 3.0
= gplo| 2910] SITX} SH=X] 0[0] L1 QCHH 0f213t A o ,
Cf 412 Z00ICH Shxlet Shhlol] azHol thet S0 S| ehect ocabulary Build-up
B 0| FHHOR Bf 0| RUOIKIS FojEofR, Are | gethuto heal v. Aigeld, w
5 - A5 TR, T
oA RSsHRt: OfE THRO| 7K KIQUET}? PAS Hote remove . frioit progress n. &4, T8
_ erm n. M= state n. Alg
747 O S [HREX| Q=CIB! LIt 200l BAlGH= K27} germ 1 A2 state . <H
) ) take off ~< =ict ot infection n. z<
SOl sl 4 UL ZO|cH, 1SS HSshA PHET TS0 e ==
Mo OfmBHK|, 12| T 1S0| sl US YAlo| Zigloz Zo}
’ [(2251A)
& ZQIX|Z Am{ofa},

S 22| CHHES 1o WADE ARSI MRS B 1S} of w
=Alloll'=
= A O] =L =0 x| e AT
1 0l 29| 2xl= KAl0| Bofste US Ao HZoz gope | ) = A= BEC B SNEE AR 2as L
ol Sl 0] SIS FAMOR HIZBH0F BTt 02 MHsH= Bt
A .
=) o 1==3 o xE= S
S L] 2o w0l SIS HES o Azios = 4 i) M2 0h2 DEAZI2H 0| TN B3 20| FE5|= Bt
= —l = — O = .
021 512 121 SU0| SKIS HE0f 0JF] Pals “EEst
RHAIo| EO| RRIX| U | BO| Zgio| AO|DR A4
‘ WIS ARRE 4 QIC SEE UIEmE 1 W0l MH A
0l BhAl= of BAS 27 8122 517] Hh20ICt
B HIOIECH OJME YN ALK O 1 A0t SoI5181 &
— C}. OIS S0f A0l 20| QIR WHEHmI} RO R Wt
e = - -
-2 Deciding on a major in college is one of the OIFF, MEA ZHEEL O] s SR S SO =

most important choices (that) you will make in
your life.

» SEAL 0] 3O H= F
s the ZINZ + MEAL + (hat) + S + V : 2HA B '
HCHEAL that A42F 7k '

o , o 3|5 4
3t You’d better start thinking about it now. T o
6%7—73?_[ I:il_j 7\:1_7 I_I_ﬂ_é
» had better SAIRS : ~at= A WLt o coommm e
. =0l= A @BEIE M= A 0 AHME M= A
3-490  If you already know what you want to be, it
) ) 3 AX7FUEEH PESTO| MO| HBICH T oIt
will be easier.
» what + S +V : ~5k= A (MAIS ILafst 2|l )
[F=2s14]

HAF what)

8102 Go meet them and find out what their everyday
lives are like and see if you would like a career

doing what they do.

» if + S+ V : ~QIX| OF

» BAL + HHEANT) 8L

5}
=HM0l(what they do)E 71! 2% BAS £X| 4]

1220 We use bandages when we get hurt to cover
the wound and help the skin heal faster.
> to @ 1 ~5l| RleiM (toREAe] 2AE SH

_ EX‘l)
=

[
Ral

) » help + =801 + SAFRHE : ~Jt--5l=& SCt

o 462 Thanks to researchers from the USA, South
Korea, and Germany, we can now use “smart”
bandages.

Answer Key 11
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» thanks to @ : ~ SEH0]|
/-8 If there is an infection, the bandage will turn
purple.

» turn + AL ~siX|Ct

Reading 03

[ZE] 1.0 2.0 3.0 4O

roabulary Build-up

since conj. ~3tolaf2 show up LIEfLiCt

lead(-led-led) v. ozct industry n. A4

impression n. Q14 succeed in ~0f 4235ict

talent . xts potential 1. Zix{2]

release v. ZifsiCt, Li=ct prove v. Z%sict

apparently adv. 25| increasingly adv. g

CG=))
70IE Ol0[E AEte| £23}
19960l H.O.T.7F S&T O[22 0f0|E 30| K—pop &

&S 01Z0] =it S0I8A= & 50 HE ¢ B2 K—pop 0f
in| Eln}

EQI CN=F2| E&allt AlL9] S

OH
o
52
il

. HESE o7 1(x) 2] YLt B2k2010|=HA0|

-
fu
30
>
[
i
il

(2xIs14]

1 0] 22 & ¢ B2 K-pop 7I50] 22 &&ot ot
£ HES T6iL Ut © ol @ sl @ &AL @ 6
Qi ©

2 gizt ol=0l 2E0IM &22 FEoIHA QI B = o
M 7t29] o2 S Ut O RS @ 220] BheiA

Q@ OlIE S0l @ CHA| ZolH © ooz

ME
M

12 Catch the Reading 2

+ o+
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+ o+
+ +
+ o+
+ o+

3 UZ2EE, 7oz Eak20l0|=2A | Oju=E 2A00], &
Ao|L], HE3k= CNSF A%0]C,
(=)

o
L NEHS Soi 1996 H.O. T 7HHIRIFC= XS L =+ U

[T25H4]

18 Since H.O.T. showed up in 1996, idol groups

have led the K-pop industry.

» Since S + HSAL, S + havelhas] p.p.
oil) ~et ol2lz, --ohRACH (Bixiiet= ol AHIEA 2H)

More and more K-pop idol stars are making

their solo debuts.

» HlWg and Hlug :

(T

E o ~ot

Some of them have even made a stronger

impression than they did with their teams.

» CiESAFdid @ HOIIM L2 SAE Tl (= made an

impression)

Boy band members like Jung Yong Hwa

succeeded in showing their musical talent

and potential as musicians by themselves.

» succeed in ©—ing : ~&k= Olof AZaict

10-11% It seems the trend in K-pop is increasingly
changing from idol groups to solo musicians.
» It seem (that) S + V : ~7} --5l= & HolCt

Reading 04

[ZE1 1.6 2.0 3.0 4.0

roabulary Build-up

therapist n. x|2At homeless a. %0
various a. Ciofst

difficulty n. ojzig

communicate v. oAAES|CH

correctly adv. HatsiH|
experience 1. Zg required a. L4
sympathy n. ¢ipl patient 1. &xt

tough a. ofzi2 rewarding a. 22 A=

[E251A]

+ +
+ o+
+ o+
+ +



[ ESPN =
Andrea= E=0lA 00|51} =ASS #I8t Ol& AI=ALO|CE,

= A—ZE0] A2 o2 S8l A85I=S =0, Andrea

Ol 71 0f0|= HolE Feksi| Yotk Hloll 022 241 AUCH.
PSS

=
s
2
fu
—
il
=)
52
°
30
rr
inl
=)
mun
rlo
=
N

=

L A0 AL O 0152 3= et HR& rt, SR

0[2{2F US0| BIEA| Hett 7[&2 ofuct, aixiet S 4 U

oM+t Dlg XZMZ E8o € 4 AT, Ui =

O [X|2H HEf ok QU

[ExiisHA

1 0l 22 nlz= Safl et ofs30l XMet AldEs &= 0l
= AZAf 0jopZ[0Ct, @ OlERIZAD EAS0] &=

i

2 L7 &t @ Ol X2AUE ST a2

© Dl& X=ZAPFARRE0] Hol S0Pi=S &0 @ 0|
ZARS0] 010|50] Ofl=7 7t =l 50t © 0|
220 OlgS Soff HoMR|== &t

2 29| ‘Another time'g Sl BIZ 0 1EH(Andrea)7|

:
@E’
ﬂ|'|>@o

i
=

>
>
Hu
>
N

Al =21 O[T It AMEUSE

3 == 2FE00 0z XRMEMY VI SR AEe SH s
H0[2t ot Tt

4 AndreaZ EOIM 278 Mol UKol Thet 0[0F7 |= ¢

S| U

[F235HA]
2-24  She helps other people communicate

through the visual arts.
» help + =X0] + SAFREY :

She once worked with a very young child

~7t ol Frt

who was having troubles speaking words

correctly.
» LACHHEA who + V @ ARE tHblet= 32 2|l
HAF who

» have trouble ®W—ing : ~ah= Hl0l| 0{24SS ZiCt
624 They help people with all kinds of difficulties.
» help A with B : Bol| el AZ SCt

Y \

CHAPTER

Reading 01

[HE] 1., ®

2.0

® ocabutary Build-up

post v. Axisict, 410t
raise v. £2{4o7|ct
confused a. siz2| 5t=

according to @ ~of =

instantly adv. zztxoz
debate n. £2, =2t

as a matter of fact Arale

sensitive a. 075t

[2=5H4]

ol =4

0] RO| OfEE ARIZIRY” Bt ATEFE 00| AHAIOJ A R At
TlaF et o SNS Mo[E0| Z2E S0t 0f Haet ZE0| 2
2lel YoM B2 2 =dE =efeiedl, alfsiH o Alds
2 0] R0| S} ZA0|2ka THES BT & O AHE2 0]
RO| mizhAtnt H2A0[2i thER| 20|t &Hz of R
2 It geMos o] UUCH SIXIEE of 28A B2 AR
S0| e A2V T2IS0] ot ARl & R FH &Y
0| 2 SEs Yol Bt} & CHE 01R= =2 2= U
Ch S0IE7E o 2igdet =2 71T AI—FE0| 0] R WMt 5
Mo 2 Bt

(2xIs14]

1 Z20iM 0243 HAC| QIS Z ARl £ FAO| ZH It IHOI

Ca=-1))

3-4Y

Some people replied the dress was white and

gold while others said it was blue and black.

» some ~, others ~ : 2 ZIC OO M M2 CHE FA
o] o] AL H|wsto HEE ) ALZ5HH, oftH
AMSE, J2|11 E o ARS20(2tT siAME,

Another reason is the sensitiveness of your

eyes.

Answer Key 13
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Reading 02

[ZE] 1.0 2@

roabulary Build-up

record v. 7|25t handle v. ct=ct

rate n. dlg increase v. Z7tsiCt

on average Z#xoz steadily adv. 1x5

annually adv. sfioct

complete v. 2+45ict

QI B B 52 0/8 52 47+ 45| Bk Besi
0 10.1% &7f5Ii=0l 38
Zaise B 3.8% E71HCkD Kt
70| Q1 | B BADE Msigict. 0l T AP o 2 B
3 B0 71 =2 4l0Ict QIR 2N TS Algig Al
B2 TS 349! 2002140 01824 4= 20008t Bl 15T 1
01%2 1 47} O17H 6. 7% Tl B7ISIRCH, 21T 2
Zatel thm= *201 700l H 2 024 Efo|20] kgl

=M Setel {27t 2 0|0t "2k S

(2xIsi

0 z|n HES 7ISsICt @ CIF =M S0 F& ME M
HIAS MSaith © QI =M S0l MAIM 7He 2 =&

of =|ct
2 QI =H Se SALtEe] 2ol =H, 201701 F S
0424 Efo|E SAt t=E ool

(23]
That is the highest rate among large
international airports in the world.

ro

» the ZIAE ~ among : ~&0lIM 7F& -

It only handled about 20 million passengers.

14 Catch the Reading 2

Reading 03

[ZE] 1.6 2.@ 3.6

roabulary Build-up

comfortable a. mHotst throughout prep. ~=ot = Ly

difficulty n. of2i2

overcome v. 2=5|ct

encourage v. S2{alct development . g2

in many ways oj2jz2 growth n. 4z
left behind =[xz

hesitate v. atxolct

counselor . Aetit 7124

depression 1. 28()

[2=2s14]
=20| €25iMR7
AEE ol @41 2

=
A 02120 St MBS SIPIN O TOSH L2

>

29
=2 7] 9f RULICE H2l= OlRi20] 4912 Hat 4 YIS
S&UIT Ml £t of2i=0] 242 4 U ofiH 0f2120/E 3
250 =2 ULICH OfX2eE AIFst HoIXEt 1 B2
0| HOXIX| 242 Hslo] efate oiafo] ofaf Yol Mt
4 Q=2 Ziafsii HULICH Ma| HHRSS DE SMS0| o
A2 2 20/0) S Of FE ARE|KORLY sigixl Do

2 L2 REZOILH =2 ASHA AlX]

U FAE conseling@chs.edu, QLICH, AXIE YA0(X| &
1222 22 M2 Hop| 2MA HaHXIMR]

o Bl SOIFE HEAS Lal| S 4

oIt @ &

o2 75| Slsh @ 420l Bdt HE 7] 9|
o

ol @ ShYSS st Aol =0sk| Rl © SHYS0] Al

R
b2}
(=]
S
El
—
an
10
i
-
>
i
1%
m
]
it
~

J



S0| 2XE S=0l=5 =0fot| @ StdSo| AELE =
Z Y 27| © SNS0| S0l HaPH 7= &7

3 0l 20N =SS T PSS 2= o 4FM 2ot
= e B gl

Ca==))

322 We also help you overcome any difficulties
(that/which) you might have.
» (that/which) + S + V 1 SMZ HACHEAL M42F 7t

[

o
452 Last but not least, we encourage your
development in many ways.
» last but not least : OKX[2f2Z 0[0F7 [GFX

et A2 ot

HESs

6-e2  We, the counselors, will help the growth of
every student, so that nobody is left behind
socially and academically.
» so that + S+ V @ 22HM ~&F 4= QIR

Reading 04

[#4]1 1.6 2.0 3.@

roabulary Build-up

take pictures of ~o| Ajxig ®rt  photographer n. A=}

recent a. z[9) pose v. ZXE F5iCt

carry v. 7tx|z chct close-up 22x¢, 29 &y

edit v. mzEsCt various a. Ciefst

effect n. 51t upload v. 4jo|ElE et

app(=application) n. 28 oz

[2=51M

o0j& X=2

il ARRIETZL

ol ARlg BIALE 7HX10 = A2 17| Qb= F{0JAEho|ct
SHX[2H O] &= 7IXIZ BHE0] sh= A2 OE? A=de S
O AR A7 Andrew Whytes AR2 2i|11 Dlt0{7t ARREE &
= 2&S H=rt, 19| £l “365 Z2MEA J= 1E S0f
g AREIE MOoHM oflfsiRict, ch2e 1o HY gyo|ct

Andrew= HX JO0] AFEI £ 0|07 [S defeftt, J2|a LiA
J= 29 21 TR0 FAREIE & = 5
Andrews 2HE moll Z19] 0f0|=S Olge!tia sk=d|, Ol=

ZHR| o7 g 2
()

I
N
_‘>(_|

20l o =

o

N
HO
S
i}
ror
il
]
m

~
T L s DHIUNS AR ARRIS BRI Ciolst &
22 HMBBICH 7= KRAIO| ARl ChEH A

Plalf 7HEH T A2l M AREE B2 QIE{SI0] S2(241 BiTt,

o

[ExI5HA]

1 Andrew Whyte= 3|11 Tl0{7t ZH[2IE S0 AFEIE &
= 2ES Y00 1 &S Aol g=0t

2 ZOEI 2ES Andrew WhyteZt 25H= Wi & At
Off &5t

3 Andrew Whyte= 115 FHIE AEoP7|Hb= = XU
CiLl= Ol0IES 0l&at0d EHsITt

[F2351A]
2-32 Andrew Whyte takes pictures of a small Lego
figure taking pictures.

» BAF+ SIHEAMT) - SEA S ke BRHZAL
SH0IE Folo] 712 0|12 &R AME =X 4

4-521 This is how he takes photos.
» LAEA how(=the way) + S + V © ~ot= &Y
6/ He uses his iPhone to take pictures since it's
easy to carry.
» use + X0 + 1o @ : ~ohz Hlof - ArSsith
» B+ 1o ® 1 ~al7[0l B (loREAR] BAK &

B - AL 24

Answer Key 15
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CHAPTER

Reading 01

[HE]1.D 2.6

®ocabulary Build-up

register v. S=ait mean v. ojofsict

including prep. ~2 msts104 up to @ z7 ~7Ix|

character n. 2xt forward v. Mefsict

celebrity n. oAt

election n. A4

[2=514]
)
Twittere MIAIOIA 7HE Q17| Q= QIES MH|A F9| 5H0]
CF. 10| Twitterofl Z7HAEI] UCHH G412 Twitter2 HIAIX]
£ MaE 4 Qlth o= At 140 2A2 A4 B2 HAIXIZ
= ZI0[CH, GAIR Twitters E5f ZAI9] 010|C]o
= o

o Fw ARl J2im 1 0jMe] e WSS BRE 4 Urh,
@)

T

A2 ESH O 0159 tweetS QS 4 UL 012 retweet
2 Ql=dl, ol T2 0]9] HAXIE HEsk= Aolct, 0
[E0| M22 0l5+2 RHRIE9| (52 a5

0
S tweetS ZLSICH XIZTIX| 71 20| retweetE HA|

1 0l 22 T8R! Twittere| 7101l 6l 00F/ |5k RACH,
@ TwitterollM 2 4~ = & @ +7F Z2H /1Y B2
X © Twitter7t AMRE MHIAS AERIER] @ ofC/of
M Twittero] T2 4 A=Al © F Ho| MEHS0| Twitter
Ol 5k=X]

2 tweet2| Z0|= Z|tH 140X{0|Ct,

Ca=3 =)
13 Twitter is one of the most popular Internet
services in the world.

» one of the Z&F + SHAL ~ in : ~0IM 7+
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- A & Sl
452 You can also read other people’s tweets and
retweet them, which is the forwarding of
others’ messages.
TACEALY] ASH 2 0 S0K,) Flol BACEAL
£ AZot 28 THIE 24! "and this2 thH| 7t
7-10%  One of the most retweeted messages so far is
the one by President Barack Obama after he

v

won the election for the second time.
» 2YHAL one @ N LE2 AL S 250t olLIE

tHAI8H (= a retweeted message)

Reading 02

[E2] 1.(b) - (@) - (d) - () 2.(1)

roabulary Build-up

musician n. g7t

at the age of ~ 2| Liolof
soloist . Exxt

composition 1. 2=
apply ~to ® ~g o %83lct  unique a. S5

especially adv. E35| commercial n. 2o 4&
[2=514]

Steve Barakatt
LS Z0|0|X] 2247F, Steve Barakatt= 1973 FHLiCtO]
& =0l EHOIRTE, 7t X o= X[7| AReE e 4
A mRict 2= 1 0[= 108 S0 1 S HRE SEIWe
o, 134 Ltojoll # A A
ol A=2 ST B T2 US HiRch, I= sS &
Otet 0 19| 2o

Hol 19| 818 =5

FOH

il
10
P
oz
]
e
>
<
mn
g
[l
> 3
>

9 meerct

o 2
sl

jot=TE Flying2t Rainbow Bridge, 22|11 Eternity= &

2] Al gt Qlon eirjeut TV 210N 55 £ 4 ot

[ExI5H-4]

1 Steve Barakatt2 44 U Dot-E ARRHIT, O = 10
7 H=RE ZERCH a2(1 13419] Liololl @AIAEf0l| =
Ao 5 S, 16M0l Z=2 SEIUCH

2 N 20N 2= 700X FARI0[2LL ATHUCE,
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[F=2a14]

6-82  He is known to like new technologies and
apply them to his music, which makes his
music unique.

» be known to ® : ~5h= A= RHGICH
» apply Ato B : AZ Boj| M35\t
> HACHEAC] AlEA 8 0 SOK,) Flofl 2ACHEAL
£ AZotd 2% HHIE 24! "and this'2 tH| 7ts
9-12¢0 His music is widely loved and often heard
from radio and TV commercials.
» be p.p. : ~EICH(SE)

Reading 03

[ZE]1.@ 2@ 3.0

roabulary Build-up

based on ~2 tigfoz popularity r. 217|

character n. szieis fall in love Aol tex|ct

deeply adv. Zo|, 3 unfortunately adv. £3is|=

break up &jo{xct because of ~ w20

opposition . gl destiny . 22

apart adv. Zoiy accidentally adv. 2215

(EEETS)

A¥a SH ALO|

gGAI0| 71E Z0tot= Al 0[0F7 |= 29120t ? B2 0|50] "
St EH A0'2] Al 0|0 [ &2 ALt Ol SHe| i
AEME] AN HIEE & Y= FetJUICH 0 et 17|
= 0 &9l otLt= 0] ojop7 |7+ £IEet A2 23 Al2XIX] &
=Ch= FE Yot Uch= FHULCH F =018 Junsei?t Aol

rr
fim}
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2
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g
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inl
inl
THT
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ol
H
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rlo
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LIt Ol= Junsei@l 71550] Bithstr | EuUch, 22ia L
T2 e, shr|2h Het
= 159 2H0| 1 0|2 104 2 ofH Ale2 52 Eolx
& 5212 20HEUCH 2= 2E2 0I5 M=lsk st=dle.

==
0lS2 109 Toll 18| s |= &S ZME
=o

Sz HolA| e Alds BT, ol2fet Ho| U= 29l

Y \

2 0159 7I&2 sXELH

B

[2xIs14]

1 0] Yotz R0I=E 20f 2= T RiLhs & ¢1219] 0jo|
2, Tiget A2 Z22 MRRRIX] td=tte oIS Z2 %L
ch @ U7t ols LS Aot @ Tiget A2 23 A
SEXIR| =0t © Al HMYe] F s S5 Aot
@ ANF2 HE O L2 AI—0| =lA| 2T, © A2 71 7|

o
N
o
it

2 @H2 U=sS P Horojopr|E o L B
i
3 0| Gst= S AME #Ae=Z U= Aot

(T2sH4]
1-32 Many people would pick from a Japanese
movie based on the best seller of the same
title.
» based on : ~Z HIEC=Z
3420 A'reason for its popularity is that the story
tells that true love never dies.
» reason for : ~2] 0|
» BAFEE 0| EEA that @ A BIW thate =Zof|
M Ol IEE ol 282 0181, ¥ that2 &
£HO| SAttello =H0] ASs dl= 22 0I5
5% They break up because of the opposition of
Junsei’s family.
» because of A 1 ~ WZ0] (cf. because S +
V)
6-720 The movie shows how their destiny keeps
them apart over the next ten years.
» O|2Athow S + V @ ~7F O{E7| -ot=X|
» keep + =X01 + SEA 1 ~7L A& -S| oiCH
/~1120 Destiny brings them together when they
accidentally meet in Duomo Cathedral, Italy as
they promised to do so ten years before.
» ™&Atas + S+ Vo ~shiiz
» promise to @ : ~ol7|2 2ALSICH
11-15% The two people show their unchanged love
overcoming all the difficulties around them,
which touched many people’s heart inside and
outside Japan.
» AL+ SIHEAT) © SEA S

o
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Reading 04

[ZE]1.@ 2.0 3.6 4.0

Oocabulary Build-up

experience v. Zgiaict psychologist 1. Alz|ax}

tendency 1. 23 task n. o 1e]

focus v. zizsict by oneself =xt

experiment . A15 cockroach n. tt7[z]

dig v. mct happen v. 2ojLict

be good at ~2 Zsict embarrassed a. g&A22

[E251A]

NS

SAt 2 L CHE O|S1t &7 Sg uf 2 Bo| H= g™
= ol H0| ULIR? H2[SIKIES2 012 AIS|1X ZX0)2tn 25
LICH AIEE2 tatt 42 2 of =20l T2 AI—ES0| IeH
O & 5l= 20| JUELICH olE S0 G2 =Xt goll /U=
ECH HIGO0|LE SO O & &S 4 U= ALt =
22 & ol 3§ 2Xtof §for a2 XPAE= AIFEE0| U2
of of el EUch of2{8t M SS0IAE LErgLICH, 22
A0 2ol HiFHell= CHE diFHelsaet 27l 12 o o

=21 SEIJLICH JH0l= THE JHDIQF el E2 o & 2

&2 o Hol |tz Wao|ct,

3 0] S M e+== ¢S O Hol Elfk= A0l 0] =
LX0|22 2| UTHE LHE0| LT, O &Y @ &S
21t @ 2835 © 2

18 Catch the Reading 2

c. Y

4o NEH B2 s=oli] et e 2 mols MEXIX] t=

[(7=25H4]

1-22 Have you ever experienced you eat much
more when you are eating with someone than
alone?

» Have[Has] +S+p.p. ~ 7 : ~oll2 M JASLII?
(Sirferz - 49)
» much + d|ug @ 2N o ~5t

2-420 Itis a tendency that people do better on
simple tasks when there are other people
around them.

» Itis ~ that S+ V 1 7104(1t) ~ ZIF0(thatE)

/=520 You might be able to focus better in a
coffeehouse or library than in your room by
yourself.

» be able to @ : ~& 4 ACt

9-11¢f - Social facilitation does not happen if you are
doing a task that you are not good at.

» AL HEA that + S + V 1 S5 ZACHHA} (MR

Al EXOIE ThilE)



[X‘II:I-] 1. @

2.0
& 0| XX| = &

Oocabulary Build-up

distance n. 72| between A and B A2} B Afoo
kick v. (t=2) xjct

react v. BI25\ct

second 7. (A]ZF o) =
cross v. Zict, dct

success rate 432 opposite a. tirjo|

o |
THT
Ho
§I|=|
Y
D

H'2E| 2| 0|He| XX=

Sah = 2121 AMo]2] 72l 110[Ejolct. X2 301 & 2fe!
=2 GOMZ 71X Hldisk= AZR2 0.4%01ct, SIX|2F S7|mH7}
BFSSh= dlol= 0.6%7F Z2ICt 1222 0|24ez 27|

rr

= 5780 7oz Hord 1 0|12 B M=
2hdeZofMel HEE| 2| SSE2 2f 70%01 =utet 2oz o
A QAT UL S= K= A7t Aifold ol Xl d&lof U
2 [oll= 1 35(44%)0] W HOEICt, Bithe] MgolM=
HEE0[ 93%0ICt.

7t @it Six|

[ExiI5H4]

1 =220iM HelZis 2
2|2t AESIC

2 mEZo
VIR EORICE,

O

o 9

Xl= SCHOIA 11018 7

|JTLH6F3|_:|?§7|E X|7| =N I- O.HA«I _IEO S 44%

[F235HA]

134 The distance between the ball and the goal
line is 11 meters.
» between A and B : A2t B AtO]

A goalkeeper takes 0.6 seconds to react.
» take + A2t +to @ ~of= Hlof -7
The success rate of a penalty kick in the World
Cup is known to be only about 70%.

» be known to @ @ ~Gh= Zo=2 UM QlCt

It gets much lower if the kicker is in the
situation where the team loses if he fails.

el

» much + Hlug : 24 o ~5t
X

» AR where + S + V @ HAS 24

[HE] 1.0

Reading 02

2.0

roabulary Build-up

billion n. 102
policy n. =z
report v. AMTsicH
aged a. Ljo7t £

law . &

population 1. 21
government 1. 2

only child glofs, ez

G

SZOZHEQ| A A4

139 2159] E=0il= of Al FHol2t =2l= o] ATk, 0|
HE SOz 27t 0j0IS B & o1y 7K &+ glth, 0] g2
198001 ME=IRUA=E, Of mHoil Ft JeAtE2 S=2 i+t
T M2 XS A0, o] ¥ iz 25 S=els2 0lolg
O 27| ?fellM THE =712 0156l |= 5%, O 0152 5
9| Of0|S0f thall Y=ol AM1okK] 7[5 Tt ShXIZH 2000
20l 0[=2HMPH HZ0| Haltt O B2 =7Exg =g ¢
TE B UE o 4 s AT SOISUCE. 0l Bt
=0l &= FF= 259 GHMS H T M=2 EH stof

o
K= B Bovt Exiel 249

[ExI514]

1 0] 20lAl= &=0] 2 St IpoligiE of At HAZS Hit
0 UCHT Fota ot @ =9l 17 nFste 1 QUct
© &= 2= XLRA HZ6lct, @ =2 of At G
2 8D QlLt, @ 2= ANHER NMEL BRIt © F
= 0}0|52 O £EalX|1 QT
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i

2 &=ole 5ff CHE LIZtZ 0|56, EfOt

0f0lo] B4 A 5K Bt HRE HMRICH

[

A GHs T

[7=23H4]

2=428 - This law was made in 1980 when policy-
makers worried that China's population was
too large.
» ZAREAF when + S + V0 AIZE A

4-520 Some Chinese people moved to other
countries to have more children or did not
report to the government about babies they
had.
» to @ ~5t7| fI5t
» MAF + (that/who) + S + V @ 252 HACEA}

e

Reading 03

[ZZ] 1. more, stressed 2.6 3.@ 4.0

oocabulary Build-up

impossible a. £7155t imagine v. AlAlsict

according to @ ~of = survey 1. A2z

respond v. S¢5it stressful a. AEpjAZ ==
difference 1. xlo| compare V. t|wsich

stress-free a. AEg|AT} Q= post v. 7xiatct

status . Atf opposite 1. gif
[2=2514]
SNS, AEAS sHiA8H=7H?
FacebookO|Lt Twitterd3 SNS(AHS] AR AMH|A)7 Sl=
S MEele 0| S7kse Ay 20[X|2 o = ZAtf ©f
EFE' 01=2152 60%210] 0| MHIAS ARZSI ATt Bict, 2t
2o, Sa8 A2 71 O U2 ds SPlokn L=
. SNSE 018st= 0= A2 ‘
ZAOf OfotH SNSE 0l&ste 0152 26%7F 152
A7} OhS RUCHD CHERIGL BIH SNSE ARS6tA| 2
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(_Y—

AEAT} *84 SICtD LBt AlEfel HIES H|wE 1 o HoE
17% O 28%2, 0= SNSE 0|E5HK| &= 0l
0] AER|A Q= M8 A= Z2VtHH Hth= 24 Qofgict, 1
222 FacebookO|Lt Twitteroll EAIo| AEHof| CisH 2 j
MBS M2ttt 1 mAE0] Gl O A=t & 24017t
OfL|™ BICHR OHS Z4QI7t?

Ct O s
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1 0] 29 2Xl= SNSE Afgsk= A
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2 ol 2Y0lIM 7012 MLt 0[2F 7E*OI
FEO=Z TIF0{2! to know your limits

@ a2 W xolet, @ @sHPH20, @2
Ch @ 0| Y2 oiELt, ©® e S Ok= A

=
o
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rlo
©)
rz

0w s
o = g
o o
ol -
= N T
0o
.IfLII

w
r

HD
2
re
il
rn
B

Alofl 2%, 01291 5 60%7} SNSS A
23IC}H, SNS 0|87 5 26%7 AEATL BT 1797 A
E o

2HAS LYK 2=t SNS HIOIEX} & 24%7t AER|A
A

7t oM, 28%7t AER|AT} GICHT HIHCE
4 ZE2 SNSTFAEHAS O [ o= AT 0[Ok (6122
Sl=l=4 Emmaol HE2 0] 29| LISt LX[oHA| ed=rt
@ Alex &, "2AN0IE EES 0|1R= /I ERal.” @ David
f, "SNS Mo_ =40l Felnt MRl Hes TIE
A0 @ Emma &, VI20| MM US 1 SNS= 2 Ul
7122 WA siE ok @ Louis &, "XIZFE= SNSO|

M= AZES B0|EE LHl0I0." ® Max &, "SNSE
o] oF st= A= 20| Q= 2 2ot

CR=c )

132 While it seems impossible to imagine a life
without SNS, only 60% of Americans use these
services.

» &AM while + S + V0 ~GHBIH

3-420 The question is who is having a better life —

those using SNS or those who are not?

» QI2AFwho + V @ =7 ~BEX|

» MAAL+ who + V 1 MRS Olblsh= =2 2
Ab

6-8%  The difference becomes large when you
compare the percentage of people saying their
life is not stressful at all.

» not ~ at all : X5{ ~ofX| &2



S 4 O FA HREEC] AHS0| M2RHE A Hel, AEs Sl
Reading 04 :  =iolEchs 0f0j2] 27 ol A7t ECks 2S Al
: O} wAfRH LEZO| HEHe = ST
[Z2]1.® 2.warmth 3.0 4.0
N G )|
Oocabulary Build-up = Why does a baby animal follow and stay close
follow v. m=ct close to @ ~¢} 7712 . to its mother?
believe v. 2ic| feed(-fed-fed) v. 2jo|c} > stay + FEA: ~BH dHIE /T
psychologist 1. Al2/six| experiment 1. Al5] : 3-420 Harry Harlow, did an experiment with a baby
figure out 2ofLict cage . 22| monkey to figure out if this is true.
metal wireg cloth n. ;grg > TSALIF o ~QIX] OFHX] (HAE)
observe v. £%rq clear a. 235t 4-621 Next, he put a warm cloth in only one of them.
He put milk in the other cage and observed
[22514] how the baby monkey would act.
st A3t » one ~, the other ~ : = JI7} /2 1 sliLi=
=2 M7l= of 1 oolE w2l a Zp7tololl HRE= A one, LIOX| SfLt= the other
77}? 1960ELIS] AISE 227t M7IE 2Ho|7| mZ0l2fn & » OJZAthow + S + V : ~7F O{EH| ---5H=X]

—_—
Ct. 0I=9] M8t Harry Harlows Af7| 18012 7tk @ 11

oict 520 It became clear that baby animals follow their
(2)0|Z10| AfAIRIZIZ ElE{LY7| 2Ist AlslE 1L, = EAlZ mother not because they are fed but they like
DFSO{RI 1|25 Ai7] 22|12 FH|GIS0EH 12|10 LA mA their mother’s warmth!
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Reading 01

[HE]1.@ 2@

roabulary Build-up

sense 1. develop v. Z5ict
infant n. ot react to @ ~of Br251ct
impact n. o5 lyrics n. Tt

expose v. ==A|7|ct various a. Ciust
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Ca=:l=)
1gt The sense that develops earliest in human is
hearing.
» MEIAL+ that + V @ AFES CiAlGHE =2
Ab
g-10#  That is why it is important for children to be

e
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exposed to various kinds of music to develop
both sides of their brain.
> itis ~ for +28A +to @ : ~7t -5l A

ot (71501—2lnfe el :0-Z5=01)
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Reading 02

[E]1.@ 2@

roabulary Build-up

own a. ~ Ao currency /1. Ss}, st

coin n. = bill . X[m|
convenient a. ma|5t exchange v. w2lsict
currently adv. Al out of ~Z0f|Af
(=2sH)

S&tHA

2 =U150| St E2l= ZKte] st HAIE ZHX|D QL

B RFO| B2 AIIS2 20024 0|52 fR2tn E2=

g SIS ArBst ATt R20l= 14HENN 2REVIX| 857

Qlon | 5RE0IM 500E27EX| 771 CHE K| 7F 9!

LiZlol M S8 SHIE ABE 4~ Q= A2 0 Helst
(E%

I%Q ST BHEHS SHA| 40t= =7 | =0T,

ru om rir
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g, ol
= 2874
1970 =77t
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[ExIsHA]

1 0l 22 RE2 55 =l R20i| & ¥t /. ©
FEUEN R2O I @ REY S5 3 @ 7E oY
= ?le Rt E @ REol ot ZHl & © M7 crefet
= M=

72 XNz sY 2 F27HHRIEIUS o] 40l theid=
=& it gl

[(F=2s4]

=320 Many European countries have used the same
currency called the euro since 2002.

» havelhas] p.p. ~ since + ZFAHAIE : ~0[2i=2
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c. Y



Al ---sllCt
6-920  In 19 countries out of the 28 EU member
countries such as France, the euro is being
used.

» be being p.p. © ~EL UCH (+-SEH HHTAS)

.@ 2.0@ 3. Angelina JolieQ] 24l0] g2| &

o |
-
=)
i
rel

1
T o] 2tet HMHALE = 0= (g2l HE

® ocabutary Build-up

surgery 1. & remove V. H7{5ict

option n. Met (A1)

prevent v. oi|2tsict

die of ~o= ?lsff Zrt gene 1. SExt

cause V. Rsict cure n. x|2(8)

predict v. ol=3sict blood test =i zAt

risk n. 93 medication 1. 22 (x|2)

~

2254
Angelina 21}
I2|2E0| K3 1S Angelina Jolies Z149| HAS H|75t

ol

22|
= ra= U Jolies 2H2| OHL7} A fo= AMYSIA
7| w0l 2= 2ol 2HolAl Lelske AS YISk | flsi 24
7 Efgh 4 QAU zpH0(2tn it Jolie?t Loke AO|
0l &S REsE RLXE 7KL Uz HEs 2571 24k
22 oS oot BTt ske A2 OfLX|2t, of &2 8 7t
K| 7Fset (IEfo|t, s ol Thet XIZ2 0P GIXIRE, ClAL
s FHHAE SaliM 0|2 ol=cks A0| 7hsoicta eict, 2t
of T4 oLt Q] S i =710 YABICHH EAlo| 2
off thall & 4~ U= LS0[ U= Aol o2 S0f +20ILt 2=
X=7F At Angelina®l 0j0F7 (7} E2] L2l FHoil 0= oy

= Mool S =floh/| e FAHME B b

UL OIHIS2 OIZ Angelina &kt 220t

=0] S0I%iT,

1 222 fY ot Angelina Jolie7t 2= 0ilEfat7| 2Isf

HAS Hft 282 22 Aol Bisf 0lopIskn 9ict,

Y \

® Angelina JolieZt &0l Ze|Ct @ Angelina JolieZt
S0t lsl 2t @ Angelina JolieZt & &xt ¢17|12 5}
Ch @ Angelina Jolie7t &g olftoty| sl &S Bict
® Angelina Jolie HA0(M &S HAH3ICH

2 HIZHoiSole s x| LHS A AJSE 4 Qs X
7t H2ED T, @ RS @ ~ R0 @ olE =
@ ~0f =™ @ xEe=

3 2= 2l Angelina Jolie 212t 47t 22 of4fstr| /sl
P

=g LERICHE AMMO| YoiT! = 0= O40| SAUHAS
= o] S0t A 712l7Ict,

4 YoptHagioz S0Pl & ARlofzE S22 Yol ¢
old AHS H2H510] Angelina JolieZ} Ha M7 a8 gt
ooz AL Mo WHE £ QIik= s Y29
Cf.

[F25HA]

2-3% Because her mother died of ovarian cancer,
she said it was the best option for her to
prevent the same thing happening to her.

» for + 254 + to © © toFFAIL] 2jnj4el 20

43 Not every woman with the gene causing the
cancer has to do the same.
» not every ~ : B ~5t 12 OiLIC}H (BE 25)
5-62  There is no cure for the cancer yet, but doctors

say it can be predicted through blood tests.
» ZEAcan be p.p. @ ~E 5 UCHESA SSEH)
13-14% Some media call it the Angelina Effect.

> call + BX0{ + 0|F : ~2 -2t B2t (534)

Reading 04

[ZE]1.@ 2.(c) - (a) - (b)

Oocabulary Build-up

relax v. m5| 4/ct relieve v. (1€ 58) 9oiFot
calm adj. Z=st pose 1. XAl
balance v. 7&S it still 2. =x|5t

raise v. soi2z2|c} place v. =ct =t

get on all fours | &z gic2ict  knee 1. 25

Answer Key 23



curl v. 232|c} fold v. =ct

[22s1A]

QIIZ AEH A A5l

22 27t2 S8l 0/ 4 Ut RIK= Gl
LIPS EE NN =N

EX}. o] ZtMlE gilel otslt 59 S &= dlol ==0]
= A

t'e wh=oll 51217} of=Ct

™ =
ACH FES Hol i & & & L2 et 52 H

1l 52 RN S0I22et G2 1AV EE R 2 2
SAY 2 A0[Ct, DIX[HZ ZHESE Q7 XRM| SH7F 0]
Ofte1 HEsk= Hol =22 & 4 UCH 2Rjoll k= A= o
2let 22 otz S0 HM 525 Foj2t, 25 2HS 0| 27t

MMES M=sli2 7|22 2XF
(2xIs14]

1 2710 2tz S0f 220] telid=s HZ =R Ut @ of
52 EANY © 39 TS HE O AEHAS MY
@ ZHE RAEY © 72 Aol &

2 .
(c)= Ak XEAjo]CH

CR=l=)

122 It relieves your stress and makes you calm.
» make + =8 + SZA: ~7t 5| PEECE

(54

63t Get on all fours with your knees on the
ground.
» with + =824 + TR 0~ B 1Y

24 Catch the Reading 2
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Reading 01

[ZE] 1. M4 8A| 3022E] 9A| 30E7IX| Bt AlZt S0 TS5
S 2.@ 3.0

roabulary Build-up

planet n. i movement n. 2=

expand v. stxfsict

include v. m3tsict

encourage v. S2{sict turn off (27| 52) nct

possible a. 7155t action n. =

RITE S Il 22| #AS st WA @Al 0 25
2 2007H0) B ASUOIA XS AlRkIRict a0 0j52
AL SHHEl0l 1507422] o 7,0007H A BiA0] el
2ICH Ofid 3% DHXj} EQU0) ARISS B 8A] 3022E| OA

=

SOV 1AIZE S 52 s HEEC, =H| SHgel 8|
Z ARSE2 KFE TS 1217FE MAZE St =S T

th
0| 7ISSRIE EOECE, "2k EIRint, 0| BS5E =
o

[ExI5H4]

1 0] Yol= X4 8A| 302EE] 5t A]ZF SOt &
KT etgo| B0l Fo{etct

2 Earth Hour= 0f 32 OfX|2 2 EQY &
ct.

on
mjo
1]

0
=

i
ofn
o
>
=
o

3 E=0M mustz ~lo| SZeltt ks Qojel ot F52
LEHHTH O AlEE SHsiME o 2. @ f2l= =1
OUXIE obrof BITE. © 2 BES ¥2 Fel2 24l A
0| St @ o052 0| MiE= Ealaliof ottt ® At

HE2 SN HALE DRAIE QF 0t

[F235HA]
2-22  Since then, it has expanded to include about

511



Y )

7,000 cities in 150 countries. 3 nalural cycle B A0l 447} 138 22}, 3RE}
» since ~, S+ havelhas] p.p. : ~etORIZ 7% ¢ =5 202 D& MU= 7S Jt2)7Ict
-~ (BTfRtR - Al%)
3-42  Every last Saturday of March, people are CEDTE)
encouraged to turn off the lights foronehour  © ... One of the rarest records in baseball is
from 8:30 to 9:30 p.m. hitting for the cycle.
» be encouraged to @ @ ~ot=SE FHE BTt » one of the ZAZ in ~ : ~OJA 7kt -5t 71 = &t
672 Earth Hour shows what is possible when the Lt
world becomes one. 6-020  The natural cycle, which is hitting a single, a
Sl2At what + v - £510] ~8fX| double, a triple and a homerun in that order,

happened even more rarely, only 13 times.
» AIES $AIGHE 4 BAICIZAF which

P T ~5A|

m-(ol‘

» even + HloZ :

ol

FE7101M ATt 152ES,

I'

0,0,0 2.0 3. - :
242 2AfE R0k Sict Reading 03

>

roabularyBuiLd—up [HE] 1.0 2.0 3.0 4.6

rarest a. 7z 5|7/st powerful a. Z2{5t :

alittle bit o7t =3 record v. 7|=5}ct roabulary Build-u D

time . 31, 5+ in order &A= : western a. Hto| Ao head for ~o= fsict

happed 1. ofLict recently a. 2 passenger . &7 on the way to @ ~2 7t= =20

destroy v. mjufsict storm n. ei=

) wash up on ~= 2eisc| survive v. 4z5ic;

Mo|2 5|E capture v. 2%t allow v. 5i2/5ict

OFOIM 71 B2 LI2e 71E &2l siLtzt Mo|2d 5IE0| publish v. 7151tk

Cf. 0|2 ot M7t 1 REF, 22Ef 32EM SH2 22 /Y

ClofM 25 MU= A 2nlBict A0|22 SIES XI2H Ef g—E-aHM]

AL w20 el £010F 5tH 72 2= Z0i0F sitt, 1004 20| 2oz 522 oht2 mj

0 d= FAE 7121 oflo[Mz20lM MolZ2E sIEZ 7ISE A Hendrick Hamel2 &M 2z A7 |of MSo2 stz 8l2st

2 305 Aol Sxtoict, 1REMR22EF 3REF, 2[0S & LMY AReR UM QT 1666 Hamel2 63F2| CHE &

©2 X|= natural cycleQ] 2= #M o =20{M 13X[{0l M1} 8y Bi2 Efn YZRICS HUF Y202 S5t QY

SoICH 7t =lZ0l=, S2fete F RockiesEel Michael L}, Y=o Ji= o SO0 ZEO= vyt & X

Cuddyer7} 2014Ei0f Ato|22 =2 o, | iR 22 220 HamelTt 3630 S2450] HHjofAf A

: OIEUCE. OS2 Bt= HALSOH Clol AlZES AME2 0ISEU

[2ReH4) D - Al S0 - o7lolis FEQIT0| Aln QURCH

1 E=20M= MoIZE sIEE x7| RleiMe £=2F &, 2] Hamelt CHE MEXEZ == WHih= 20| S{=H=lX] LUK
0 20| Eesittn it O 2 @ FHs 045 @& ot St QtojA HFEHT 0|36t e 81% [Tk, 13EH0] X]
6z . U HamelT} 212! MRIS0| UEOR SEFIT ChA| Y2

2 MOISY SIEES 28| 04 Tl Maof A= ASBE LGt ¢ =2 Sozith 2 & HamelS HameIQI Y79} Bio| Y=

Answer Key 25



of thet 7le"olzke Mg S of M2 Ss10d 20| 7

QISOIA L=ARC,

[ExIsiA]

1 0] 22 st=0ll Mz 7t 2 ML Hendrick Hamelol| 2
StZolct, O z[=Z t=0] 7t 2 REQ YW @ Hen-
drick Hamel2| HIAEME] =M @ Y222 JRIC=
Hendrick Hamel2| & @ HobE o] MEXISC| =2tz
olop| ® &Y= ot RYUst /=2l

2 ORI Z2&e o= ol %Oi% Xl 13 ghof| Y=oz =

P2k

oo === =0

—= =

A= MY 0|70l S0{7t= o] Y
3 Hendrick Hamel2 3232 B2 o= Y2 & Lt

oot dEez sef 2ol AR YERi=R S0t
7kt

4 Hendrick Hamel2 SI=20A9] Mol 26t ERIIE A
1, 0|z0| REIeIs0] St=20i tholl X5 TotH A7 17t =R
ct,

G )\

1220 Hendrick Hamel is the first known western
person to visit Korea during the Joseon
Dynasty.

» the first ~ to @ : ~8t Z|=9

3420 On the way to Japan, the ship was
destroyed by storms and it washed up on
Jeju Island.
» on the way to @ : ~2 7h= Zof
» be p.p. by + =524+ ~0i| 2Jalf =Tt

7-9% Hamel and other survivors were not allowed
to leave the country but they were able to live
and move freely inside Korea.
» be allowed to @ : ~ol=2 5{=Hz|Ct

Reading 04

[ZE]1.0 2.0 3.6

26 Catch the Reading 2

roabulary Build-up

throw v. ©x|ct festival . x|

hold v. &ict, szlsict official a. ZAIxQI

worldwide adv. Jzxo=z keep in mind {451

breakable a. 7§z 4 Q|

rr

crush v. oAgca|ct

distance n. 7{2|

fon

signal n. Al

grow v. Z7f3ict

[2254]

La Tomatina

La Tomatinas EOEE TUXl= =M= o 82 O/X|8f =7F
Ol eIk, 0] A= Amelo] 2k2 DR20ilM MAet EOIES X
O] Aot MZ0A EHXIHA 1940 H| M5 ARGIICE, 1957
H AoIME O ZXIE A BHZ PEUD, 2 X MAXNC=Z
LAXIA =UCE, o] FHIE E717] M= F 7EK] 7|26 FoF
g 2401 Qlct, K22t 20| 7iXl= ASS &1 chiM oF #iof,
EOEE EX7| Mol 2A2{=20F SICt, EO0MES A0] L2
= Ui Egnt gAl Mool Mot IS RAISHE. ChE Al
RE F&siMe= of ElLt, 2 As(F i SH)7t U FlEs

7

Xz XS HHO0F Bt o] ZM0IM= E0HE 15204

[ExIsiA]

1 22 =UE0M La Tomatinall [2Hol 2t st U
Ch @ O ARRE=X] @ 0= EAOIM Zel=X] @ ]
20| LotLt E=X] @ 0152] Q0|7+ FNRIX| ® H HO| At

20| ofek=X|
2 0 EXofM AFRE= EOtEC| s 150 7K 0JAO|CH,
3 EDIE Qof CH2 ZHALE THoll EeliM= SEE Bt It

[F=2514]
1-2¢¢ La Tomatina is a tomato-throwing festival that
is held every year on the last week of August.
» UACHHAL that + V - AFES thdlsts 24 2]
AL
3-420 In 1957 the city made it an official festival.
» make + =80 + GAb: ~5 -2 BS54
4-5% There are a few things to keep in mind to
enjoy the festival.
» afew + S4HAL L 7HO| ~
» AL+ 10 © 1~ (oA FEA!

I
0l
s



¢ After the stop signal, stop throwing.

L ~olH AS BRL

» stop @—-ing :

CHAPTER

Reading 01

[ZE]1.® 2.(e) 3.0®

® ocabutary Build-up

area . x|° disappear v. AfZix|ck

sail v. gstsict zone n. 79

alien n. 9Aol suck v. o}t

expert n. M2t doubt n. 92 oAl
[2=254]

HRCH &ZEX|CH

H2fE2 HRCH XS OR? HRCH oKX= MY

9| gt YL, Ol HiLt B[} |7} 0] XSS SafshA b
StALL Sleliotd Sofl AlRtA sl FagLtt, B2 0152 it
7 [7F Ol Re= ZU=AIE ZOMH AL SIACLE O S201M
& A 4 s, Ol2fer ALnSof dish =1t 9= 50| B
UABUCE. O OIS2 0|20] Tt Het A1 Hhz0l2t
ofil, &= Offd 0|52 212l wh=0(2h gt o 0152 07|
0o S2U=0| AOIM 2= AS BoISATtn WZBILC, SH2E
TE7IE2 015 012 & 0= A= AR20| Of2t >R,

@} o|20| UQICH= LIRS

ol S017k=
JRIZIXE (e)= HE

A
2
al
HO
0z
ro
>
kJ
e
N
I
=

- _“'U
E

20| LT},

CR=c )
2-22  Itis the place where many boats and

airplanes have disappeared while flying or
sailing through the zone.
HAS LEHLE MatiAL+ where + S+ V @ A 5
)L|I
Many people tried to find where the ships
and planes went, but were unable to find
anything.
O|ZA where + S+ V :

~7t o]0l A ---SHEA

1028 Experts say none of these theories are is
true.
» none of 2LHAL + 245}

[HE] 1.0 2. 22 MNo| TS RS AQMEAS 3.0

roabulary Build-up

purchase v. 72/slct consist of ~2 24|}

build v. 5ict

colored a. Mzl=l

move V. 0|=3ict

get to @ ~of =2sict

own v. AR5iCt

rent n. 2oz

G

BLEg

2z BE Aol 22 Gut =S Fchet Bol Foljst
71 25t 22001017} =iz Ao|ct,

2 Fg5(0] len a2 BHA 0] = et = 04 |01| J"OI

SHE XIS AT S20[0t= FAR] & Y2 BHM 22

_,_

o
im

0 = ]
o 4 QACH GA0] 2 Myol §E 2T TSkl LHH — oA
= 222t 820 - Ao AES 5= AE XY &
QAT GLlo| THE AIY Z210101 A72] ol B =T Tl
£ LHOF Bitt, 2rof glo] mhMGHR| 21 AlY OIX7IA| H=
CHH SARE Tt
[ExIsHA]
(OF=ES

1 =22 2aEe BEeAYel 7Ais 4dsin Qi
Z209 1 @ 2eE2|Qf HA
222|0] 27] © 2=E2|S Hilichs SlAt

+ +
+ o+
P+ o+ +
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The goal of the board game Monopoly is to

purchase as many properties and buildings

as possible and become the richest player.

» as ~ as possible : Z[CHSt ~Bt (= as ~ as + S
+ can)

43 Players move by throwing a pair of dice.

» TXIA by + @-ing : ~Eo=ZM

» a pair of : (E0]) 8F 49

Reading 03

[ZE]1.® 2.0 3.® 4.6

®ocabulary Build-up

play v. ¢17[sict

memory 1. 7|
pulse n. ot typical a. zg=ol
different from ~¢f cj= fall in love Arzof| tkx|ct

little by little == eventually adv. z=o=

cure for ~o| x|z ot

[E251A]
Abboll st E! EH|
st & HIC|A0IM Nicholas HoultZF ¢1718F B R 0|2&

719= glen =2 MEt gle SHlojh, J2|u a= o

? 02
ol

v Jm

x

= o

Li=Hl, JEe] 0152 JulieOl, Ao WHEICH = MAS]

FejUi= CHAIE @1zfol Ect, 0] Hsh= Hee

| ZH|ofl oiet F=iot OfLITt, PITHer Al Oj0F7 |2, LI 4
EPNE 2ol 82 W 717[ols 5 M 50| ACtE A

28 Catch the Reading 2

[(ExsHA]

1 0] G=t= S8 AME =1 ULt M olofz(olet, @
S QI0i0 Q@ 2UWA @ BERX| MM G ntet T
Ef2]

2 R2 &S 2| Hz0| &2 Hu ZZol For ATk, @ ~ o
Aol @ ~olle =5tstr © ~ mizoll @ ~of M= ©
~2 H=0]

3 R2OE 27tel XS Ha B2 =0, 0|42 T SHI2f
= CHE ol

4 R JulieS B ARZOI| K]0 BH5E | ARFBICE,

[7=aH4]

342 He particularly enjoys human brains, which
makes him a little different from other
zombies.

HACHEAR] AL

£ AEsiod 28 T

v

B ZOK,) Fofl ZACHHEAL
£Al ‘and this'2 A 7
C ot O

k=d
[S)
=
=

» different from
It is about a great love story and tells us that,
when there is no cure for a bad situation, there
is always love and hope.

» BAES 0|l11= T&At that @ thatE tell] 2X0

st
==
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roabulary Build-up

release v. (212) Yieic) ¢

)

hit n. o7 2= 5lE

ol
mjo

top v. HAS RxIsHCH what’s more 5t = of A

set arecord 7|22 Act reach v. gct, =gsict
billion 1. 102 view n. 87|, =3

limit 1. x5t 504

(G=c =)
Mot 71EE 2t

20124, MiIAlilY 7Ry REet S22 olote Y AR
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Z0Ick, 0] 2= 201213 68 1520 3291 807t Mojof o]
o LEEIICE O] lahs TMAKO! Sl=T0| Ell=r| 1 8 CHAPTER 1
xu[CI97} LU DIQS] THROICY, Of teahs % At

ch, maA, 59, oftielo), eilol, Ampls} € 5 307 0
Ao] Srte] ot £9l0l Halol 23Ut ¢ Lot 20124 9

2ol REL0IN 7K Al B 22 MRS 1A M A Reading 01
7122 MRCH 2012 128 212 2t AEI'S Rl
M U2 He2E F=2 109 HO| st F2| ot =

R (2] 1.0 2@
Cf. 212 0] SRHIcIos ois 2 5u0| S 21 SR

£ g0f ATt Mo19] 0] ealf 20l RRE= S =3 8|

® ocabulary Build-up
RS 2,147,483 ,6470A 9,223,372,036,854,775,80

09]

level n. & in total ££0f
2 HHEA =IALC I o
retail store A04% beverage n. &
tired of ~of x|z, Azt entertainment facility @A
[ExisH4] o ; -
aquarium 1. £ marine a. &9
1 === Molel e A ARl MAXeZ Hoft 2
SIES N=Xl Aol Tt @ Mole] = F0f @ [(22shA

YouTube AIAE! HT20|= @ Mo| 21712l [ @ X
AERY MAX SIE © ' AERUO| AXIA St

2 E2R0M O~os 25 ZY AERYS JRIZIXE, 6=
YouTubeZ 7f2[7ZIct,

3 ER0M ZY AR FAH|CI7F EE| MolUHM 2

QI7IE LRACIL AL, © 7PAZE XHDIRATH. @ 2=7F

7{tist FHo| =

7IHIAS MA 7|1=0i 25tH MAIM 71 2 AZ=2 OFEoll
0j2[EAg=2| FHfololl A= FHIo| =0|ct. 0 '
20084 1120l HYgstRi=0l 45 Ti=0il HA2 1 ,124,000m’
o[}, 047]ol= SE01 2F 2007H9|A i & 160712 Als
20| Ut Z4I0] 0] HES0M 2-Tok= 2ol 22T 2=t

PRSI © & SX0lmR ol B @71l g g wos 4k Qi oploli 33,000019) it E22
N o= —
=P\ oo x = =P [e]] :
el SEIE S 2HL O FRirRs AR 295t 22 23p0| QIT} 0j0)2 Y2 EEH AT BT 27
4 20120128 g ASBEI YouTube £8I SIS OMOE 515t e sropg o] am20| MBS %S 258 deisteld
E|x=2Z 1022 gt £010| AQE! Z{0|C}
e e

23l The song was released on July 15, 2012 by
the Korean Musician Psy. :
> be p.p. by + 257 1 ~0i| Qs - Ick -

7-9%  “Gangnam Style” became the first Asian
YouTube video to reach 1 billion views.

1 5ol 2ol MEo| UCh= a2
A a|3_ @/\X—l} @)dxi @%
SEBS D22 0128 4 T,

/K| U D 0}
g © ekt

[T23514]

4-6% If you become tired of shopping in all these
stores you can try visiting the entertainment
facilities.

» become tired of @—ing : ~&k= 20| X|7KX|Ct
» try @—ing : ~ot= AS SiECt
6721 There is a free aquarium in the mall that has

» the first ~ to @ : ~8t x|x9] -

33,000 marine animals.
» MSHAL+ that + V : AES Al =4
At

e

AHE
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10- 127 It might take you several days to
experience everything this mall has to offer!
» It takes + AR + AZE+ to @ @ ~7} -Shk= Hlof
~0l Z2|ct
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fail v. Almysict hunger n. 5/7|, o=

weight loss Hizztzf

slow down =2 S=ct
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184 Many people try to eat less to lose weight.
> try to @ : ~ol=2 L35It
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2-42 By slowing down your eating speed, you
could feel full and easily control the size of your
meal.

» TXIAL by + @—ing © ~ECZM

43 Here's what to do.

» OJ2At what to @ : 2912 aljof &X|

Reading 03

[ 1.0 2.0 3.0 4.(1),(2)

mocabulary Build-up

hear of ~2 £ct literally adv. 2xt agiz

warm v. o x|ct

cool down Ala|ct

throughout prep. =xjof debate n. 2, =

cause V. 07[aict blame v. b|msict

create v. DIsofUict entire a. T2

phenomenon n. g4 find out otfct

[2=2314]

Xl 2ttst

XZB0|H ofi2 RS "X 2Halek= 22 SoiRe

O[tt, 0|2 & Otz X5t mtsiels QIolgitt, shxl2h =

M= X771 AR ek 2ol ACH, FA0| X7 2HEE 2eT|

0f 0187 O] ZMIE SiIEE X[ofl tal & MAXCeZ =4S st
g

ALt 7tsd U OIF S SiLtz =0 O MafE:

=0, AEIE QUFIE 2 Lol ol 2 2471
=0|Ct, B TS 0152 O|ZE Af¢ si0[2f Ueitt, 0l
2 TS 52501 O|t=IEAS o 0| LlA|7 = HOIX|
SYOIL ASAF OfL 2t oitt, 2Ml, =7t 1 Hels 2ot
AL 4 A= O BelS Hols A= weikisel o|ct

[ExIsHA]
1 =Ee AR 2= els e tiglE odg 2orn
AT,
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+ +
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3 7120] 221 F5{ A QUK i 200] 2 2HE} 1 XK
=
4 =20 gad

Ca=allS)
£ By now, most of you have heard of the term,
“Global Warming”.

(S|

=~

ro

» By now, ~ havelhas] p.p. : XIZZ0[&H ~
uCtH
el The problem is that it is not cooling down.
» BAMEE 0lTI= & A that 1 E9 Bo g2
3-420 Throughout the world, there are debates about
what has caused it and how to solve this

problem.
» O12AF what + V 1 £910] ~&l=X|
» O|2At how to © : ~Gh= e

5-7¢ They say humans should be blamed for this
because they have created a lot of carbon
dioxide.
» be blamed for : ~9| &5 8t

892 |tis the scientists’ job to find that out.

> Itis ~ to @ 701(It) ~ E50d(to @)

Reading 04

[FE] 1.©® 2. (1)-(b) @-) Q)-(a) 3.@
4@ 5.(2)

® ocabutary Build-up
introduce v. AJjsict publish v. £utsict
review v. misict award v. (& £2) 20451t

receive v. gt worth a. ~&t 71x)7 Q)

rr

exceptional a. oj2|%0l, E£5t  company 1. SJA}
strategy n. ©iet

definitely adv. 2ais1H
pay off 4z3ict, s g2ict

[2=sH4]

Y \

Michelin Guide
Michelin Guide= MAIMSE KFset Ot AXtoICt 0] 22
T MAL] ng Aol tiet 21F2 LM QITt, 0] M2 ofd =
ZHEICH 12|11 0] o] MEo| 2 wioict HIAEM2] HHel Y
+0il R = A S=BHCH 0] QHK MiXt= Aol Cfsh BE ot
Z2 AYS0] tishiM= g2 2oielct, o AlZ0| E2 SiLt
BI=CIH 0] AIH0| oi® £2 AZYS 2ottt Bl = IS
2=, 0] AlFE EFget AIF0|H e[ ME ZHorA2et 0|
Cf. OFX[2O= Ho| NAZH T AY2 FY2 oMoz 28
St Xez ool A7kt H|E0| S& 7ol 20 7t= ARt =
Moz EY5| oS MUt £S5 ARl As ottt SoIE/
& 0] S £7I5k= 3= Michelin@2 Z2tAO| EL0|0] M|z
SIAfOICH, TIECHH off EfOI0] SIAZHAIE TI0|=E RBlies A
7 Ol= AIHE0| A2 YWEsh| flal of 2 ofalls 51t 0|
SIAZHH 2 EIOI0E & 4 VIE JFWY| t20olct, 2159
T2f2 2falo] 836t 2o 2FaIct
[Exiiei4]
1 E29 O~@= Michelin GuideZE 7127|122, ©= & ¢t
JHE g2 Al Ti2zIc
7 Holll= EYo 280t A, ¥ & e R2IE AT 9
off e Hopte £2 Al OIXYe2 H A Ji= AlZfat
HIZ0] AHeio] R2IE QY| floi EEa| oS 7ie £
= Algs gttt
3 Michelin Guide= Michelin Eto|o1o] TOHE s217| $IaH

5 Michelin Guides 10| 11 ST, ST SA| HIAE
M2y7t =ict

[F235HA]
22 It is known for its reviews of fine restaurants
around the world.
» be known for : ~2 SHGICH
2-5%  Itis published once every year.
» once every year : OfE 194 (= once a year)
322 And every time it hits bookstores, it quickly
reaches the top of the bestseller list.
» every time S + V 1 ~7} & jOtct
6-82  Three stars mean the restaurant is exceptional,
worth a special trip just to visit it, no matter
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+ o+
+ o+

c. Y

how long and how much it might take.
» worth + ZA . ~& atst 7IX7t Q=
» no matter &}2AL+ S + V : OFF2] ~&X|2t=
2 It is because the company wanted people to
travel more to visit restaurants so that they
could sell more tires.
» want + =801 + to @ : ~7} 5P |E Faict
13-14¢ Their strategy seems to have definitely paid
off!
» seem to have p.p. : to2HAR] LHZ0| FH=rt
ARIZE et EA] BEAY ) ALE

CHAPTER

Reading 01

[HE] 1.6 2.6

roabulary Build-up

mysterious a. AlH|5t figure n. (\f& - =2 59)) 2%

breathtakingly adv. £0| %S =2 amazing a. s2t2

hundreds of 40| recognize v. Lot

from the air SZoijA| remain v. (~at x{2) ot
[22514]

7t 0| ME2 aR=TI?

29| L}AZE Af2tolli= Nazca LinesO0| =6, 0
S2 23T Adigt 27|19 AH[e E¥EE =0 &
OIFLCH. O] X|F92 1994401 FUIATL] MA| FAF X
1 O R AZFS0] 0122 YWESITH 0f7]oll= Hof
w2 MOl AHistA 12 Ql=dl, 2 Heeet MS0IAMRH
MLt AOl, 10l 217], &0 2 2YS oF ST T
0|5 A2 HRE 7IM SSOIME 1 22 2

o[t =7t o 452 I=Al= OiTts| 22X 2 0|AE=(0]

n
ro
N
rx

o

s

J
]
Q N
n e
=2

ol
g

o O e
T 4> 2 oY

B

Ct. O] t5= 10 LtAZIRISO0] HEUCHD 6h= 015% ULH,
= f

QARI0] 222 Aol ke

S
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+ +

+ o+
+ o+
+ +
+ o+
+ o+
+ +
+ o+
+ o+
+ +
+ o+
+ o+
+ +
+ o+
+ o+

GR L)
1 E=0ls =0i Fdo 42 g elX| Ut
2 7uigt MS0| & BEE 0|R0l| tielii=s 220l LI2AUX| 2

ct,

CR=cF)

2-4% The area is visited by lot of people every year.
» be p.p. by + =824 1 ~0i| 2Jalf - EICF

These lines are so big that the figures can

only be recognized from the air.

6-7¢

» 50~ that + S+ can + V 1 iR ~&liA & 4 9
cf.
7-8%  Who drew these lines still remains mystery.

» QI2AwWho + V @ 57F ~GH=X|

Reading 02

[Z2] 1. 2.0

roabulary Build-up

amount n. & sales n. Ty

exceed v. Tufsict traditional 2. ME=i0l

continuously adv. 74 increase v. Z7t5\ct

decrease v. ZAsiCt trend n. S8, FA|

2014, ool Mz 2l 48 MOIESS| IHE0| K522 2
Zefol YEEC ES "ol 0] Aize 2B 4T=0 2
| o

HIY A8 49] & DiE0| TSAR 4852 & MELED =tie

o
Of B2 Hii A= 2Rl A8 gT= S=C MA AIZolM
o

R4 AT,

H
=)
o
Ho
=
ol
pul
N
ol
ol
mn
rir
N
2
U

[ExI5HA]

1 2z0ls 2211 £450] 30] MK H|wIHZ0[510] A

+ +
+ o+
+ o+
+ +



[F=2a14]

2-49 The data showed the total sales of Internet
shopping malls and mobile shopping apps
were higher than those of the traditional
stores.
PN =N-=1mk=}

=2 thoseZt OiAl (=

] QA Ot

[ e

FollA that
the total sales)

6-82  People prefer online shopping since products
are usually cheaper and easy to compare
online.

» &AM since + S + Vo~ IHR0]
o-1120 The similar trend is found to be true for the

global market, too.
» be found to @ :

Reading 03

[#2]1.@ 2.® 3.6 4.provide 5.6
® ocabutary Build-up
million n. 1002t user n. Af2xt

reason for ~of tfst 0| offer v. xjZsict

text message Zxt HlAIx| provide v. xZsict

keep in touch with ~ef 125t x|t cost . 5|8
convenient a. mz2|5t

against prep. ~2f tialsto]

share v. 2es5ict

[E2=314]

IPIRE

SH=0IlA 7H8 @171 QU= OIAK] & &2 oiLt= 7P12E0(2t &
2l oIt O] U2 2010 32 180 MHIAS AR
o, & MAXO0I 12442 FO| AEXE 7HEKI QUCF, 0] 40|
A OIXF Q17121712 A7 (ol & 7EX| OlR 7t QUCt, &Mz, 7t
7IRES 28 X} HAX] MUHIAS MESeCt E5H | HE

0]
72 "800 S ol ot 2efelas o 80| 0|8skEAlE

+ o+
+ +
+ o+
+ o+
+ +
+ o+
+ o+

=

OII

=

I B2 H3S ME5I0 HI82 S0IX| §4u ISt A
|
EN

QCH EMZ 7PIRES 0|2 Eaff MHEL} |:|||:|0+ il
ARZIE B0 CHE AR—IOIA SA

|
24 S o

Il

A
g BR8Pt n B,
A

S 4 QI £ TR0 FAOIL SR
> Sick. S 7 ie ol r%%_ 22l AlYS 52 4 %
3

o 1
X
oo
mo
ok
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=

N
_o'g
2
P
A
rr
L
m’n
njo
M
40
g
Rl
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[ExI14]

1 EE2 IPIRES 27Ut =2 0IK01 el Mdst QUCt,
@ 7PIRE ABY @ 7I7I2E0] f Q1717 QU=X] @ 717t
QEO| AEXt= E HRIX| @ 7PIRE AlJoIA 01717 &
ol 2 sloF sh=X| ©® 717t2E0| TH2 Ut OLH| CHEX|

72 IPIRE9| JisoR TAt AXi= AigE vt gl

3 0T 2E2 AR MEof| et Hez ojoo I SRt
7tssic fE 2 Foil 2= Zo] Yot

L offer= ‘Frfek= on|2 2201A provide?t 22 Qo2
MO}

5 IPIRES
N

S 0lCI0f TS FEE 4 Qlom, 44 S|

C2E)

124 One of the most popular messaging apps in

Korea is the one called KakaoTalk.

» 20BN one @ HM SgE AL S 556t 6Lt
£ Al (= a messaging app)

It is easy and convenient to share information

and media files through Kakao Talk.

> Itis ~ to @ ~Sl= A2 -BICH (10 - TIF01)

6-8%

Reading 04

[ZE]1.® 2.0 3.6

roabulary Build-up

luxurious a. &tz45t liar n. 7{xitxo|

promise v. k5|

wise a. X522

pretend v. ~9I HjsiCt show up LIgtLICt

show off &Lict shout v. Az|x|ct

+ +
+ o+
P+ o+ +

Answer Key 33



f Y

naked a. 25 laugh at ~2 v2c} g » pretend that S + V : ~7} 01 & 5iCt
ashamed a. 44 Ll castle 1. 4 :
[22514]
oM 2
Ao =22 RS U= NS S0f6ks 20l HUASUCE
Ol & 20| & Fo| &2 Aot 2= fls AMollA 7t
OIS0 RS U 4~ U2t LIELICH 2 SEalM 0]
S0 E2 =2 A4sLICH HE 7 01S0] ol 2bM A2
= X2 BHTELICH 0152 RIS 201 1 U= AAE &2
Aot drE= 770l= oFF A= SiUELHICt, 52 "0l R
0] HRLIE EHciA piet AIRFTI0] 0I5 & 4~ UGLICH "2t
A ANLS SIREUCH 2 0FF A= = 4 QUK & 4 QU
= A SIASULCH &2 HOIX| g RS Xish7| #fall 0 X2
UL AHS ol LISEUCE A7 | B 0f0[7F H2IofA A2
GLICH "o HAHUCH MSE2 &S HIRI| ARRIELICE
HUEHE &2 29| 4oz &3] S0REUC
[ExI5HA]
1 2E2 sl s ol 2= YLl s == 0[o|o]

ct.

2 oM Z2 20IX| b=, M2 = EXHoK
O M22 @ 20IX| b= QOISR @ 3322 © 3t

&2
i
N
i)
39
o

B

30| YrHHICF3tT 9El 0jolo] 2B E bR Moz &
URE SO YO AR XHAIE 22 QU1 QK| ks 2
S U=, KFIRL AR & 5f2{T O R0| 2Ol &

Ca=l=)
° Once upon a time, there lived a king who liked

0%

to wear luxurious clothes.

Ab
5-62  They looked like they were holding something,
but actually there was nothing!
» look like S+ V : ~7t -5t Zix& Z0|Ct
6-/21 These clothes are so special that only wise
people can see them.
» SO ~ that ~ can : O§R ~aHA] & 4= QICt
7-82 The king could not see anything but
pretended that he could.
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